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Virudhunagar District Common Examinations ( J - [ ) [ { “D
Common Thrid Revision Test - February 2023 . A

Standard 10

e 5 MATHEMATICS Marks: 100
Time: 3.00 Hours PART - 1 14x1=14
Note: i) Answer all the questions.

ii) Choose the correct answer from the four alternatives and write
the option code and the corresponding answer.

1) If n(AxB) = 6 and A = {1, 3} then n(B) is

5)

6)

9)

10)

11)

12)

13)

14)

Answer any ten questions only. Question No. 28 is compulsory.

15)
16)

17)
18)

a) 1 b) 2 c)3 d) 6
If f: A - B is a bijective function and if n(B) = 7, then n(A) in equal to
a)7 b) 49 c) 1 d) 14

The least number that is divisible by all the numbers from 1 to 10 (both
inclusive) is

a) 2025 b) 5220 c) 5025 d) 2520

If 6 times of 6" term of an AP is equal to 7 times the 7t" term, then the 13t"
term of the AP in

a)o b) 6 c) 7 d) 13

.1
yo t y— is not equal to

e b)LY+l2 C)'(y—llz” d)[y+i"?~"
a) v v 7y yJ 2

(1 3 5 7
Find the matrix x if 2X + =

5 7
233 (] o 2 o)

A tangent is perpendicular to the radius at the

a) centre b) point of contact c) infinity d) Chord

The straight line given by the equation x = 11 is

a) Parallel to x - axis b) Parallel to y - axis

¢) Passing through the origin d) Passing through the point (0, 11)
If slope of the line PQ is )9\/; then slope of the perpendicular bisector of PQ is
a) 3 b) 3 9 )5 d)0

If 5x = sec8 and % =tan® then X° - & is equal to

a) 25 b)Y c) 5 d) 1

If two solid hemispheres of same base radius r units are joined together
along their bases, then curved surface area of this new solid in $qQ. units is
a) 4nr? b) 6nr? c) 3nr? d) 8nr?

The ratio of the volumes of a cyclineder, a cone and a sphere, if each has
the same diameter and same height is

a)1:2'\3 b)2:1:3 c)1:3:2 d)3:1:2
The sum of all deviations of the data from its mean is

a) Always positive b) Always negative

c) Zero d) non - zero integer.

A page is selected at random from a book. The probability that the digit at

unit place of the page number chosen is less than 7 is v

a) Ao b) /Ao ) % d) /4
PART - II - 10x2=20

IfBx A = {(-2, 3), (-2,4), (0, 3), (0, 4), (3, 3),(3,4)) find A and B.

LetX ={1,2,3,4}andY = {2, 4,6, 8,10} and R= {(1,2), (2,4), (3, 6), (4, 8)}.

Show that R is a function and find its domain, Co - domain and range.

Find the HCF of 252525 and 363636.

Find the number of terms in the GP 4,8, 16, .... 8192,
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ViOM 2
e
19) Add : Xy yox : o . |
20) Find the nature of the roots of the quadratic equation /52 _ 3, W2=0 . °

: : ‘ . . (+3)]
- 21) Construct a 2 x 3 matrix whose elements are given by aij = (—TD
- 22) Atangent ST to_a,c\ir(:le_ touches it at B. AB is a Chord such that |ABT = 6507

Find |AOB where '0' is the centre of the circle. ' '

23) Find the equation of a line whose inclination in 45° and makirig an intercept - 9
on the y - axis. ‘ . o

24 P ~_cosé
) Frove 1+sing 4 ' L
- 25) Find the diameter of a circle whose surface area is 154 sq.cm.
26) Find the standard deviation of the first 21 natural numpers. :
27) If P(A) = 0.37, P(B) = 0.42 and P (A nB) = 0.09 then find P (A UB)
28) The volume of a cylindrical water tarik is 1.078 x 106 litres. If the diameter

=secfd-tang

of the tank is 7m, find its height.- ' .
. ' - PART-III ‘ v 10x5=50
Answer any ten questions only. Question No. 42 is compulsory. :
' ' 12X+T; x <=2

B g . ’ ! _- ") T .
29) If the function f: R — R is defined by [0 51X ~2-2<x<3 |
' R xX-2; x23 '
’ ‘. ‘ f(1) - 3f(4) -
i) f(4) £ C i) f(=2) 3 - i) f(4) + 2f(1) .. iv) ——( )f _3.)( )
30) Show that (fog) o h = fo (goh) if f(x) = x -1, g(x) = 3x + 1 and ‘gsx) = Xx2..
31) The sum of three consecutive terms that are in AP is 27 and their product is
288 find the three terms _ - TR , -
32) Rekha has 15 square colour papers of sizes 10cm, 1icm, 12cm,
- 24cm. How much area can be decorated with thése colour papers?
33) Find the square root of 37x2 - 28x3 + 4x% + 42x + 9, = .
Doy o AN (Y (A S
34) Find the value of x and y is X[_'3 '+_Y(-3 e D
35) State and Prove Pythagorastheoram. ~ . . L
36) Find the area of the quadrilateral whose vertices are (-9, 0), (=8, 6), (-1, -2)and (-6, -3)
37) Fromthetop of atree of height 13m the angle of elevation and depression of the top and
bottom of another tree are 45° and 30° respectively. Find the height o

, ‘ f the second tree.
38) Asolid iron cylinder has total surface area of 1848 sq.m. Its curved surface area.is

five-sixth of its total surface area. Find the radius and height of the iron cylinder.

39) A capsule is in the shape of a cylinder with two hemisphere stuck to each of

its ends. If the length of the entire capsule is 12mm and the diameter of the
capsule is 3 mm, how much ‘medicine it can hold? ‘ A

40) Find the co-efficient of variation: 24, 26, 33, 37, 29, 31.

41) From a well - suffled pack of 52 cards, a card is drawn at random. Find the -
probability of it being either a red king or a black queen,

42) Find the equation of the perpendicular bisector of the line joining the points
A(-4,2)and B (6, -4) -

PART - IV

- " 2x8=16
Answer all the questions.. .

43) Construct a triangle similar to a given triangle PQR with its sides equal to 7/

. 4 of the corresponding sides of thg lt!riangle PQR (Scale factor 7/4 > 1)
Draw a circle of diameter 6cm from a point P, which is 8 cm away from its .
centre. Draw the tangents PA and PB to the circle and measure their lengths,

44) A school announces that for a certain competitions, the cash price will be
distributed for all the participants equally as shown below. :

|No of participants (x) 2 4 6 8 | 10
‘|Amount for each pariticipants Rs.(y) | 180 | 90 | 60 | 45 | 36
) Find the constant of variation. ii) Graph the above data and hence, find
how much will each participant get if the number of participants are 12.
o (OR) '
-~ Draw the graph of y = x2 -5x - 6.and hence solve x2 -5x -14.= 0.
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